Model CE-CN-0082T-WG 47875

Parts Breakdown

®

@0 © OCAILL OO @




Parts Breakdown

Model CE-CN-0082T-WG 47875

Item No.
AO176
AO177
AO178
AO179
AO180
AO181
AO182
AO183
AO184
AO185
AO186
AO187
AO188
AO189
AO190

Description

Ball Nut for 47875

Chimney Top for 47875

Chimney Top Bracket for 47875
Chimney Pipe for 47875

Chimney Decorative Panel for 47875
Net Cover for 47875

Cordierite Refractory Brick 2 for 47875
Cordierite Refractory Brick 1 for 47875
Oven Dome for 47875

Nameplate for 47875

Gas System for 47875

Gas Valve for 47875

Igniter for 47875

Gas Hose for 47875

Knob Base for 47875

Position

1

© © N o o B~ w N

Item No.

AO191
AO192
AO193
AO194
AO195
AO196
AO197
AO198
AO199
A0200
A0201
A0202
A0203
AO0204
A0205

Description

Knob for 47875

Oven Door for 47875

Large Flat Head Screw for 47875
Oven Door Handle for 47875
Mica Slice 2 for 47875

1/4 Hex Nut for 47875

1/4 Spring Washer for 47875
1/4 Flat Washer for 47875
Support Leg for 47875

Leg for 47875

Front Control Panel for 47875
Bellows Bracket for 47875

Oil Pan Feet 1 for 47875

Oil Pan Feet 2 for 47875

Oil Receiving Box for 47875

Position

16
17
18
19
20
2
2
2
2%
2
2
27
2
29
30

Item No.

AO0206
A0207
A0208
A0209
AO0210
AO211
AO212
AO213
AO0214
AO0215
AO0216
AO217
AO0218
AO0219

Description

Gas Pipe for 47875

Movable Nozzle Connector for 47875
Ignition Pin Fixing Cover for 47875
T Shape Burner for 47875
Electrode for 47875

Burner Protection Cover for 47875
Pizza Spatula for 47875

Pizza Wheel Cutter for 47875

Big Shovel for 47875

Pizza Sweep for 47875

M4x8 Screw for 47875
Thermometer for 47875

Side Handle for 47875

Cylinder Base for 47875

Position

31
32
33
34
35
36
37

39
40
4
42
43
44



